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- established Son Company as a wholly

—re exchanged for shares of the

shares of the pareat COmpany
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T the equity method.
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22,000
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9,000

15,000

130,000

97,000

120,000

14,000 15,000

L Accounts Payable . 14,000

bl 14,000; Cr. Aoy, J0Umal entry made by son?
s ~miated Depreciation 33,000; Cr. Common Stock

97 6,000; Dx. Inventory 27,000; Dr. Land 9,000:

*d Depreciatiop 33,000; Cr. Common Stock
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bmme the following for 2021: (2 points)
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4) Prepare the entry 1o record the amopt
books-on December 31, 20

ENize the Proportionate share of Siash’

s dividends on the pareot's
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tion (write off) of the differential on the parent’s
19. (2 points)
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5) Use the T-accounts below to show the changes related to thmi accounts. (2 points)
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S e ot
acquired Venus Company's net assets
on assigned total goodwill 0f$134,000

R PATS

tidhy Xgel iy R _‘E-‘ 1Ea b
$200,000 $320,000

c&l‘l‘yin val
Fﬂil'Va.lueofNet 2 ale 20,000 [ 34,000 | 50,000 30,000

identifiable ssse
: S at year end | 150,000 [ 3
Fair value of reporting unT e 150, 00,000 | 390,000 | 280,000

180,000 [ 350,000 [ 360,000 | 295,000

3. Based on th i i Ere 50 /000 3o =y~
hould reporg: ;_. ?,?_:ﬁ% mformangn’ What would be the total amount of goodwill that Wilson
A. $0
B. $94,000
C. $79,000
D. $69,000

securities and $400,000 in liabilities, of which the fair value approximated book value. The fair
value of Sand’s assets on the acquisition date was as follows:

Current assets $ 800,000
Noncurrent assets 600,000
$1.400.000

ch%v should Palm account for the difference between the fair value of the net assets acquired and
the acquisition price of $750,000? :
A Retained earnings should be reduced by $650,000.
$250,000 gain on bargain purchase of business should be rccognjz:]l.
,000 gain on bargain purchase of business should be recognized.
D.$ ::i?erred cg:::ilit of $250,000 should be set up and subsequently amortized to future net
income over a period not to exceed 40 years.

ot : estions 5 & 6..
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; isition method, what amount relating to the
ing information, under the acquist . ;
preceding inform

5. Based on the
business combination would be qxpe;nsegl?

A. $72,000
B. $19,000
$53,000
$63,000
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Corp. on January 1, 2019.

[0) (26 points) h

uestion 2 ints ¢ of the stock of Slas B s Bllona:
Point Company acqui{;'; %—%"ﬁ;ﬂ Slash's balance sheet at tl}at

The stockholders’ equl =

$300,000

Common Stock —{ 500,000
Additional P. al.d n C jtal 400,000 |
Retained Earnia . e 15200;0005

S : 0.000 cash and giving a note payable for $312 50
Point financed the acquisition by usng $LO? 's assets and liabilifies except for: =~

: : ] of Slash : S
Book value approximated fair yhue b e 00 more than its book value and a remaining

3 : 0,0
e Buildings which had a fair value of %’Mo : fooe Dep

i 10 CBI'S- 2 [+ #’ = .
e [uzcﬁﬁﬂs:;xfigiad }a,fair value of $20,000 more than its book value. '1~ IARAIN T2 oce
Merchandis; iglgsntory which had a fair value of_l_(]jb)ﬂ(lé!‘ljog t;la.n its book value, and s

. sold during 2019. . ) |
:ony rema.igni:ng differential was related to goodwill. Goodwill is deemed to be impaireq

and worth only $15,000.
e Slash has an account payable to Point in the amount of $20,000.

\s
~ During 2019, Slash had the following: aewnt—yeeeTvAble————————— —

1. Declared cash dividends $ 80,000
2. Eamed net income 120,000
_Mnired

1) Prepare the initial investment entry on the parent’s books on January 1,2019. (3 points)
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212,500

2) Prepare the entry
: 10 recognize the :
ParcntsbooksonDeccmbeﬁlJOlgro(gO;?l?;f; 5 Of: L
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120,000 | e
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e — |70, 002>




Question 2

A) Incomplete Data
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[PART TWO-0 .
BJECTIVE QUESTIONS (22 POINTS) ; l
%}ﬁljmmhiu.n&m_nm
ﬁm%_'u Mﬂwm all n{ Scissors Co,'s assets and liabilities by issuing
g0 made a owners of Scissors Co, in a business combination. Pa
payment to Banker Corp. for stock issued costs. Partial balance sheet dmlgr

Paper and Scissor, before the cash
following the business mﬁmnr are as }m“mm of shares, and a combined balance sheet

& | What number of its $5 par value
3| Assuming that all of Scissor’s

Shares were issued when th
of issue?

Agoounts Racelvable . 105,000 30,000 30,000 135,000 |
I”ud"_"'“_‘“!" - 210,000 90,000 =h) 320,000 |
Buildings& Equipment (ncth | 400,000 210,000+ | 293,000 693,000 |
Goodwill " i)
Total Assets _ S780.000 | $345.000 i
Accounts Payable 56,000 22,000 | Tﬂﬁ
Bonds Payable 200,000 120,000 120,000 320,000 |
Common Stock 96,000 (70,000 117,000 |
APIC 234,000 42,000 553,000 |
Retained Eamings 194,000} 91,000 : 7
Total Liabilities & S.HE 780000 | $345000 | si42000 | 81 4
Required
Use the table on the cover page 10 fill your answers to the following questions.
T e S i S
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F5 T What amount of cash did Papct 2
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date of combination?

issued at the
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PART nut-m\ﬂ““ﬂ_—-gﬁﬂ"—__ :
70% of Star Company's voting stock, 5
20, wmﬂ“hd mmufuaqualmi!mnﬂhubmk
anerying book vele. Tl e el alances of the two companics &rc &5 follows:
value of Star, On Dec.31,20%
$120,000
| $226,000
b T Do |
iavesoneat in Star 30,000 25,000
N *
e 1 | 1m0 o0
Other Expenses 0000 30006

0= S 44000 021ES440:000 %
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